if the delivery time has been reached all instances having the same day (based

on the timestamp associated to the proc by the transition preceding the ISC transition)
execute their ISC task, i.e., the corresponding performatives are sent via

else wait

i desi send draft int deli N @ colset ID = string;
7)1 create _>O_>ﬂ;2$%¥deer_>o_> ﬁifrn —»O—» custtgmer —PO—» ﬁvgr —»O—» ﬁyl\e/?r —»O—» finish obaralock varprocid' ID:
i i global cloc g

: . . . colset ID = string; \J
: P create _>O_> write _>( >— > print _»( ) - deliver _»( ) > finish @ '
: 2 - o ol global clock Var procid : 1D; @)

ISC: "Orders of one day are delivered simultaneously." Pattern Instantiation:

timestamp O var iscid : ID;

timestamp 0 var iscid : ID;
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receive design print deliver o global clock var procid : ID;
P?) create _>O_> poster _>O_> poster _>O_> poster _>O_> poster _>O_> finish timestamp 0 var iscid : ID:

colset ID = string;




